
Homework set 2 selected solution 

 

P. 2-18 Given a scalar field xzyzxyV +−= 2  

a) Find the vector representing the direction and the magnitude of the maximum rate of 

increase of V  at point ( )0,1,2 −P , and 

find V∇  at (2, 1,0)P −  
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b) Find the rate of increase of V  at point ( )0,1,2 −P  in the direction toward the point 

( )6,2,0Q . 

Find ( ) PQV a∇ ⋅
r

 at (2, 1,0)P −  and (0,2,6)Q  
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( ) PQV a∴ ∇ ⋅
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P. 2-20 Find the divergence of the following radial fields: 

Find the divergence in spherical coordinates 
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